Technique de fa mubtiplication posee

06 =06 X 01
08 =8 X 01
O£ =£ X 01
09 =9 X0
05 =G X 01
Oh =4 X0l
0¢=¢ X 01
0¢=¢ X 01
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les unites :
3X3=9

puis je multiplie X
les dizaines :

3X2=6.
23X3=69

3
3

les unites :
5X8=40
(Decris le
mets de U4

Oetje X

9

en retenue.)
puis je mubtiplie 9
les dizaines :

5X1=5, jajoute ma retenue :

5+4=9.
18X5=90

Gh=6X§G
Oh=8XG
G =£XG
0 =9 X6
G@C=4X6G
06 =HhX¢&
Gl=¢XG
Ol=¢XG
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Japprends
les tables
de

W)u”dpficq’(ion !
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9% =6 X"t
e =8 Xt
8=t XHh
e =9 X h
06 =G Xt
gl=h X
=Xt
83=06Xh
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Table de ©

*X0=0

Exenples : 5X0=0:12XQ0 =

Table de |

XX1=%*

Exemples : 5 X 1=5:12X1=12

t6=6X¢
e =8 X¢
IC=£X¢
3l=9X¢
Gl=GX¢
=1 X¢
6=%¢ X%
9=C0X¢
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Table de 2

2X2=4
2X35=6
2 X4 =8
2X5=10
2X6=12
2 X1=1H4
2 X8=16
2X9=18




